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Rearl F.!,P.2 , 12V

P.I (p.8) 3- 6,21,22,25,55,55, 59

Pa (pl ) 16 22 23 43 47 53,55.59.
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P. Matik japh

 y = Janxa
like;(2.0) to(0,5) top of circhen

© y= 3 .72
parabola ,down,
vertex 10,5) cutie

y = x (x-1)(x+1).
zenes at 0,71,-1 .

22 y = x3_4x
Find Intercepts

@ y = x +x - 2
y = (x- 1Xx +2)

int, are (10) ,(-2,0) y = x (x²-4)
yo= x (x-2)(x+2)

into ae (0,0)(2,0),(-20)



5x+| 
PIB q = 2 -5* when x= 0; y = 270 = 2 .

the y= 0; 2 -5x = 0
2 = VX
Test for sym:(See 31@ caleview.com) LT= 4 (4,0)

y = 4 - Vx+3

If x were -xil If y were-

y = 4 - Jr-x)+354-175 - y = 4 - 5x+3 ( 9)

not sym to y axis . not sym. to xaxis

If x -x , y » -t then
- y = 4 -13 -XZY

Confirm w/ calculators* Y,= 4 - 1 (x+3)

☺  sketch usig intercepts& Graph
y = 6 -11
ints; (0,6 )
16,0),(-6,0)

6 -1-41-6 -1+1=y .
so sym toy axis se to
sym origin!
.
, .not
Conf.

(9)Find interaction
x? ty = 15 and -3x+y =11
y = 3x +11

» +² +3x +11 = 15 ->

x2 +3x _ 4 = 00
(x -D(x +4) =

If (1,14).
x=1, y = 3(1) +11 = 14

If x=-4 , 5 = 3 (-4) +11 = -1 (-4 ,-1)
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(p16) 16, 22, 23, 43, 47, 53, 55,59 ,

(16) Find 3 points on m is undeFine

going throgh (-4 ,3 ) :

vertial line : ( 4, 3),
' (-4 , 0),
24, 107),et

22) Eq of line from 10,4), m= 0

y = t

3 live thereg (3,-2) m = 3 ,
M

y + 2 = 3 (x- 3 )

 E
43 line = 3 -(-5) = 2
4 - O
trogh (4,3) and (0,-5)

m = 3

y - 3 = 2 (x - 4 ) or
y +5 = 26 - 0 ) or
% 14,3) y = 2x - 5
2x - y = 5 or .

6 Using Ž +4 -1 for line throy (a,0)to(0,6)

line from(2,0) to 10,3) , a =2 b = 3 so Š +4 =1

3x +y=-2
3x+y+2=0



. (p 16: P-2)

63 Since At q =1 if (a,0) ad 10,6) .

are on the lines

Considering (9,-2) , (za, o) and lo,a ) are

on the line (a to) we have

ža + 7 =1

x + 2y = za

Using (9,-2); a + (2 )(-2) = za
azĘ
23) + B =1

§ + 24 = 1
+ 2y = 5
+ zy -520

1-3,2) x + y= 7 m = - 1 mg = + 1
parallel; 4 - 2 = - 1 (x +3)

x+ y +1 = 0

t i y -2 = X + 3 .

-xty - 5 = 0

x - y + 5 = 0
69


